X

T.ong VIultiplicatiorn Puzle a

X

What is the next letter in the sequence: OTTFFSS

Complete the long multiplication calculations to find the answer. The two digits

in a shaded area, underlined in red, give a letter. Where the two digits are not
next to each other, the left hand digit is the first digit.

A|lB|c|D|E|F]| G |H ! J K [ L | ™M
19 | 34 | 28 | 76 | 50 | 92 | 87 | 15 | 63 | 40 | 14 | 36 | 29
N|lo|P|la|R|Ss|T|ul|lVv | iw]|lXx]|yY]|z
08 | 72 | 05 | 41 | 57 | 61 | 83 | 98 | 01 | 49 | 27 | 66 | 58
2 2 7 3 2 7
— X — X - X — X
2 9 1 8 3
8 5 2 4 7 5 1 6 5 6
5 6 8 2 7 5 0 O 3 0 6 2 1 0
6 5 3 5 2 2 5 O 5 4 7 8 6 6
6 1 5 7 3 3
— X X X — X
1 9 1 6
4 4 4 2 7 51 2 01 6
5 5 1 2 2 0 5 60
1 8 9 5 7
— X — X — X — X
5 6 1 9 1 1 9
5 2 8 3 9 3 4 6 3
5 070
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